[ % OB AN E D HUATE D]
EBERRODLHEEIIDRERNAO—EE
etk R MTIRRR CECR - A RS )

EPNE )

HEtE AR 2024 ~20254F

QE\ A4 i Jg)ﬁ jﬁ% Eégaj@’x igﬁ )B%riﬁﬁﬁ(g;/g e /7;117{ Jxﬁmim
WY 7T7v—1 2 PR HH 60 1
XY UTIT =T ! wiE e 60 1
LIEFRBL 2 A it 30 1
aRa=f—var ik 2 WAE (5] 30 1
FxlL oo Tusg MEE 2 A HE 60 1
FyL T usTn 5 wiE T 150 1
V=L LT — Z R T 1 A HE 30 1
Y77 —1 2 A T 60 2 O 2
— | HEGESE T e ST AR 2 wiE HE 60 2 @) 2
ik | Mg e s A 8 A HH 240 2 @] 8
Bl g 8 i i 240 3 0 8
B [v—ano—mmmean 1 e e 30 3 o 1
ML 1 A HE 30 4 O 1
V= LT — I BIEE TIT 6 A T 180 4 (@) 6
V= VT — VR E IV 4 wiE HE 105 4 @) 4
V= VT — 7 W RIGEE T 6 wiE e 90 4 ¢} 6
V=R VT — 7 KRR 1T 5 DA A 75 4 @) 5
MR LS R S 3 BME EE 90 4 ) 3
HtRE Ak 92 4 BRLME £ 210 4 O 4
BEEERYUR H 2 R i 30 1-2
DB LB SR 2 wE A 30 1 o 2 Y 2
V= VT — s OB i 4 wiE i 60 1 O 4
V= VT — I 1 DA EE 30 1 e} 1
i Ak 2 wiE i 30 1 O 2
i A Ak 2 A A 30 1 O 2 Y 2
VAR « FERER AL 4 PACS i 60 1 O 4 ¥ 4
FRN5 348 2 A T 30 1 O 2
BURD KGR AE DR E SR 4 PR i 60 1 O 4
AR AR Ak oD JUER 4 A S 60 1 O 4 * 4
R YT a 2 PR i 30 1 O 2
AR AL L BOR 4 VE R 60 2 O 4
Rl =)L CAE AL 2 wiE fii= 30 2 ) 2
bIR4SB AR 4 wiE A 60 2 e} 4
V=3 VT —2 O Sy LT 2 wiE i 30 1 @) 2
V= VT — 2 O Sy L PR R () 2 A A 30 1 O 2
V=R NI — 7 DB EFTIEGER ) 4 DA (== 60 2 ) 4
V= NI — 7 E (R EM) 1 2 DA T 60 2 e} 2
R V=R NIRRT () 1 A HH 30 2 ) 1
;j V=L V= FE T (FEE) 1 nE ] 60 2 e} 1
H V= VU — o OGRS IERE R RT) 4 wiE i 60 2 @) 4
PR AR A1 2 2 wiE A 30 2 e} 2
V= VT — 7 E () 1 2 wiE i 60 2 ) 2
AT ==X T — T 2 W R 30 2 o 2
= 2 wiE fii= 30 3 ) 2
ALV AT A 2 WAE fiie] 30 3 (@) 2
AR R AL AR O HERE 2 wiE i 30 3 ) 2
FEPREE 4 WAE fiie] 60 3 (@) 4
R — 1 RO LR 2 DA fi£5 30 3 (@) 2
TR L Ak 2 DA fiie] 30 3 O 2
V=L VU — 7 (R ) 11 2 DA HH 60 3 ) 2
V=N — 7 EREEE T (1) 2 DA T 60 3 O 2
V=L VU= T (F2) 4 A s 180 3 @) 4
R R 2 LR R 4 wiE s 60 3 e} 4
HER el A S % 2 1 2 wiE i 30 4 ) 2
V= VU — 7 R EERT) 11 1 wiE HE 30 4 O 1
V= VT — 2y ER R G 3 BEHLAME i 90 4 ) 3
V= NI — 2 328 (k) 4 BPNE FH 210 4 O 4
A YA T A e 156 3480 A 145 &% 12




[ % OB AN E D HUATE D]
EBERRODLHEEIIDRERNAO—EE
etk R MTIRRR CECR - A RS )

S tEAERH20234F

NS

)

EE\ BAEZ WA Jg)ﬁ J[Y%L Eégaj@’x igf )B%rfﬁ{ﬁ(g;/g e /3;117{ *“j&i“‘*’
WY 7T7v—1 2 PR HH 60 1
XY UTIT =T ! DA e 60 1
LIEFRBL 2 A i 30 1
A=l —al ik 2 wiE e 30 1
FxlL oo Tusg MEE 2 A HE 60 1
FRLPTUTT A 5 wiE T 150 1
V=L LT — Z R T 1 HE 30 1
Y77 —1 2 A T 60 2 O 2
—  |HEGESE T e T A 2 wiE HE 60 2 @) 2
MG 7 0 5 8 wiE W 240 2 e} 8
B [z 8 i i 240 3 0 8
H V= VT — 2RI T 1 A T 30 3 (@) 1
ML 1 A HE 30 4 O 1
V= LT — I BIEE TIT 6 A T 180 4 (@) 6
V= VT — VR E IV 4 PR HE 105 4 @) 4
V= VT — 7 W RIGEE T 6 wiE e 90 4 ¢} 6
V=R VT — 7 KRR 1T 5 DA A 75 4 @) 5
MR LS R S 3 BME TE 90 4 ) 3
Hide A kT ) 52 4 BRLME £ 210 4 O 4
BYURLH 2 R i 30 1-2
DB LB SR 2 wE A 30 1 O 2
=y VT — 2 OB &7 4 PR i 60 1 O 4
V=X VT — I E 1 DA T 30 1 @) 1
i Ak 2 PR i 30 1 O 2
i A Ak 2 wiE i 30 1 O 2
VAR « FERER AL 4 PR i 60 1 O 4
BRIk 2 504% 2 wiE S 30 1 e} 2
BURD RS R DR L S48 4 WAE = 60 1 ©) 4
AR AR Ak oD JUER 4 DA A 60 1 o 4
RABEEY ANE) T — Y al i 2 WAE = 30 1 [©) 2
AR AL L BOR 4 VE R 60 2 O 4
Rl =)L CAE AL 2 wiE fii= 30 2 ) 2
Mt A Ak & LS A S AR IR 4 wiE A 60 2 O 4
V=3 VT —2 O Sy LT 2 wiE i 30 2 @) 2
V= VT — 2 O Sy L PR R () 2 VE A 30 2 O 2
V=L VU — o DGR IT IR ) 4 wiE i 60 2 @) 4
V= NI — 7 E (R EM) 1 2 wiE T 60 2 e} 2
R V=R NIRRT () 1 wiE i 30 2 ) 1
;j V=L V= FE T (FEE) 1 DA FH 60 2 O 1
H V= VU — o OGRS IERE R RT) 4 wiE fiE5 60 2 @) 4 ¥ 4
AP R AR AL B 2 DA R 30 2 ©) 2
V= VT — 7 E () 1 2 wiE i 60 2 ) 2
AT ==X T — T 2 W R 30 2 o 2
= 2 wiE fiE5 30 3 @) 2 ¥ 2
LB AT A 2 wiE s 30 3 O 2
s tE AL A O S 2 PR fi£5 30 3 @) 2 ¥ 2
FEPREE 4 WAE fiie] 60 3 (@) 4
R — 1 RO LR 2 A fi£5 30 3 (@) 2
TR L Ak 2 DA e 30 3 O 2 ¥ 2
V= VT — 7508 (f M) I 2 PR B 60 3 @) 2 ¥ 2
V=L VU= FEEERE T (1h42) 2 wiE HE 60 3 O 2
V=L VU= T (F2) 4 PR s 180 3 @) 4
S S SRS 4 wiE s 60 3 e} 4
HER el A S % 2 1 2 wiE i 30 4 ) 2
V= VU — 7 R EERT) 11 1 wiE HE 30 4 O 1
V= VT — 2y ER R G 3 BEHLAME i 90 4 ) 3
V= NI — 2 328 (k) 4 BPNE FH 210 4 O 4
A YA T A e 156 3480 A 145 &% 12




[E R OB E D DUATEEHD]
EBRROOLBAFICIDRER B O—Ti%
AL PR (R - tE RS BF)

S AEAERN20224F B A2 44E)

EE\ BA% K *éﬁf jf‘;;:; Eﬁ‘g? Eﬁf IERBARIZED | ggwpy | 22 | HEEL
XTSI = T 4 WAE S 60 1
LEEBL 2 WAE S 30 1
aa=h—Tar ik 2 WAE S 30 1
L T 8 s T 240 3 o 8
ARIENFFE T 1 A T 30 4 ) 1
g7 17T Wi 2 wiE B 60 2 o 2
HIBGHEHE 7 2T A 8 A T 240 2 o 8
) Fxlro7arTaEE 2 WAE HH 60 1 o 2
B |FrLevTesIa 5 wE | 150 1 o 5
E 77— 1 2 wie | weE | 6o 1
HRIT7—1 2 A T 60 2
V= VT — IR 1 1 A T 30 1 ) 1
Y=y VT — R RIEE T 1 WE T 30 3 o 1
V= LT — B T 15 e HE 450 4 (e} 15
AR =)= VT — i 2 e T 30 2 e} 2
it 2R gl 2 TR S 30 1:2
AR ks ) 923 F A 3 [ERuME| EE 90 4 ) 3
HSBAR AL 27 4 |[BIRuE| #H 210 4 o 4
B 2 wiE = 30 3 ) 2 # 2
DR IR R 2 WE = 30 1 o 2
HaPLttBR T AT A 2 wiE S 30 3 ) 2
FhtE Ak R L BOR 4 wiE S 60 2 ) 4
FEEAE AT D FLRtE 2 wiE = 30 3 ) 2 # 2
MERI % S 2 DR B 2 wiE S 30 4 ) 2
I =LA AL 2 wiE i 30 2 o 2
MR Al & LG SR (A 4 DA i 60 2 ) 4
Fe i E A 2 A i 30 1 ) 2
F bR 4 DA i 60 3 ) 4
V= LT — 7 D HEAE L E 2 A T 30 2 e} 2 # 2
V= VT — 2 DRI 4 g i 60 1 o 4
V= VT — 1 WAE EE 30 1 e} 1
V= VT — I DGR LT BB R ) 4 WAE i 60 2 (6] 4 * 4
KR LA R 4 DA i 60 4 ) 4
% BUROEMIRAE DR L S8 4 DA i 60 1 ) 4
pH o AR AR ko SR 4 DA i 60 1 o 4
i: WSS A E YT — A 2 v | s | %0 1 o 2
R A ) 2 wiE i 30 2 ) 2
V= VT — 7 EE (R R M) 1 2 wiE T 60 2 o 2
V=T — 2 (REHREE) 1T 1 PAES T 30 4 ) 1
V= VD — o EE R () 3 [EIRwsE| wEE 90 4 o 3
V= VT — o R (RE) 4 |BREl EE 210 4 o 4
V=3 VT — 7 D Hedir & B iR (R ) 2 DA A 30 2 ©) 2
V= VT — 7 DFRGR & ST R ATER) 4 DA i 60 2 ©) 4
A —E ADO MLk LR 2 DA e 30 3 o 2
e i A 2 DA fi= 30 1 ) 2
I - KA AL 4 DS i 60 1 o 4
PRI 5 3048 2 DA 2 30 1 (6] 2
PRAEE R LAl 2 DS i 30 3 o 2 ¥ 2
V= VD — I B ) 1 2 g T 60 2 o 2
V= VT — iR (R M) 1T 2 s T 60 3 ) 2
V= VT — 7 R () 3 DS T 90 3 o 3
V= VT — S (HhaY) 5 WME e 240 3 e} 5
R\ AR N AR 150 3480 A&t 145 &t 12




